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Problem

Vrite code to calculate the bill for a customer
who gets their car fixed. The car shop has to
over its costs - parts and labor - but also

wants to make a profit. They usually make a
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Simplified Problem

" How would we calculate the bill if the shop
always made 25% profit?
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Scratch Programming

Lesson 3A : Decisions

Variables

' RepairCost - cost to shop of parts and labor
rofitRate - 25 or 50%

ofit - dollars of profit made

- what customer has to pay
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Simplified Problem
How would we calculate the bill if the shop

always made 25% profit?
ProfitRate < .25
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Simplified Problem

= How would we calculate the bill if the shop
always made 25% profit?

ProfitRate < .25
xample:
RepairCost <= $200
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Simplified Problem

= How would we calculate the bill if the shop
always made 25% profit?

ProfitRate < .25
xample:
RepairCost < $200
ow much is Profit? < $50
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Simplified Problem

= How would we calculate the bill if the shop
always made 25% profit?

ProfitRate < .25
xample:
RepairCost < $200
ow much is Profit? < $50
ow much is Bill? <— $250
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Simplified Problem

= How would we calculate the bill if the shop
always made 25% profit?

ProfitRate < .25
xample:
RepairCost < $200

ow much is Profit?
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Simplified Problem

= How would we calculate the bill if the shop
always made 25% profit?

ProfitRate < .25
xample:
RepairCost < $200
ow much is Profit? < $50
ow much is Bill?
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Simplified Problem

= How would we calculate the bill if the shop
always made 25% profit?

ProfitRate < .25
xample:
RepairCost < $200
ow much is Profit? < $50
ow much is Bill? <— $250
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Simplified Problem

- What are the equations using variables?
ProfitRate < .25

RepairCost < $200

rofit? <= $50

11? < $250
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Simplified Problem

- What are the equations using variables?
ProfitRate < .25

RepairCost < $200

rofit? <— $50

11? < $250

tion for Profit?

ProfitRate * RepairCost

Jt Scratch Lesson 3A « Summer 2012 « slide 15

Simplified Problem

- What are the equations using variables?
ProfitRate < .25
RepairCost < $200

tion for Bill?
RepairCost + Profit
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Simplified Problem

- What are the equations using variables?
ProfitRate < .25
RepairCost < $200
rofit? <= $50
11? < $250
ation for Profit?
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Simplified Problem

- What are the equations using variables?
ProfitRate < .25
RepairCost < $200
rofit? <= $50
11? < $250
ation for Bill?

Jt Scratch Lesson 3A « Summer 2012 « slide 16

ProfitRate

= However, ProfitRate is not necessarily 25%
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ProfitRate

= However, ProfitRate is not necessarily 25%
We cannot just assign it the value of .25
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ProfitRate

= However, ProfitRate is not necessarily 25%
We cannot just assign it the value of .25

is based on the value of the car

variable needed:
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ProfitRate

= However, ProfitRate is not necessarily 25%
= We cannot just assign it the value of .25
L[t is based on the value of the car
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ProfitRate

= However, ProfitRate is not necessarily 25%
We cannot just assign it the value of .25
is based on the value of the car.
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ProfitRate

= However, ProfitRate is not necessarily 25%
We cannot just assign it the value of .25

is based on the value of the car

variable needed: CarValue
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ProfitRate

= However, ProfitRate is not necessarily 25%
= We cannot just assign it the value of .25
L[t is based on the value of the car

e code must decide what value to use
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[ow can you make a decision?
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How can you make a decision?
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How can you make a decision?
IF
Used to perform or not to perform some

code

Je'is sometimes performed

condition
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[ow can you make a decision?

IF
Used to perform or not to perform some
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How can you make a decision?

condition
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How can you make a decision?
IF
Used to perform or not to perform some

condition

code

: 3 - When condition
e is sometimes performed oo
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How can you make a decision?

sed to perform or not to perform some

condition

code

When condition

Is false
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thing happens

Jow can you make a decision?
IF/ELSE

ed to choose between two segments of code
exactly one of the two choices will happen
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How can you make a decision?

= [F/ELSE

ed to choose between two segments of code
- exactly one of the two choices will happen
condition

code - choice 1

code - choice 2

ing will eﬁnitely happen
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Jow can you make a decision?

IF/ELSE
ed to choose between two segments of code
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Jow can you make a decision?

IF/ELSE

ed to choose between two segments of code
exactly one of the two choices will happen
condition

code - choice 1

code - choice 2
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How can you make a decision?

= [F/ELSE

ed to choose between two segments of code
- exactly one of the two choices will happen
condition

code - choice 1

code - choice 2

IE M@ﬁ nothing but ...
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How can you make a decision?

= [F/ELSE

ed to choose between two segments of code
- exactly one of the two choices will happen
condition

code - choice 1

code - choice 2

will always do something...
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How can you make a decision?

= [F/ELSE

ed to choose between two segments of code
- exactly one of the two choices will happen
condition

code - choice 1
code - choice 2

[ when condition
oice 1 will happen ... istrue
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How can you make a decision?

= [F/ELSE

ed to choose between two segments of code
- exactly one of the two choices will happen
condition

code - choice 1
code - choice 2

[ when condition
OiCode Choice 2 will happen .. is false
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How can you make a decision?

= [F/ELSE

ed to choose between two segments of code
- exactly one of the two choices will happen
condition

code - choice 1

code - choice 2

oice 1 will happen ...
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How can you make a decision?

= [F/ELSE

ed to choose between two segments of code
- exactly one of the two choices will happen
condition

code - choice 1

code - choice 2

BHiCode Choice 2 will happen ...
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How can you make a decision?

xg choices will happen

code - choice 1

code - choice 2

put only one code segment will happen ...
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ow can you make a decision?

IF/ELSE

sed to choose between two segments of code
exactly one of the two choices will happen
condition

code - choice 1

code - choice 2
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Conditions

= The part of the IF or If/ELSE that is used to
make a decision

is a code component that the computer
determine to be TRUE or FALSE
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Conditions
= The part of the IF or If/ELSE that is used to

make a decision

L1t is a code component that the computer
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Conditions

= The part of the IF or If/ELSE that is used to
make a decision
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Conditions

= The part of the IF or If/ELSE that is used to
make a decision

L1t is a code component that the computer
determine to be TRUE or FALSE

Xan e: Is CarValue > 35000
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Conditions

= The part of the IF or If/ELSE that is used to
make a decision

L1t is a code component that the computer
determine to be TRUE or FALSE

xample: Is CarValue > 35000
nditions are made of three components:
it RelationalOperator Part2
B <
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Conditions

= The part of the IF or If/ELSE that is used to
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Conditions
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Examples

= These all
an be 8> Total

Runsl > Runs2

Hits2 + Hits1 > FI]
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Conditions

= The part of the IF or If/ELSE that is used to

ble/
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Examples

)= Total
Sum <

Runsi > Runs2

Hits2 + Hits1 > FI]
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Examples

= These all
‘ (100 EXS TP

Runsl > Runs2

Hits2 + Hits1 > FI]
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Examples

or here
J sum < [
)= Total

Name = [0
sum <@

Runsl > Runs2

Hits2 + Hits1 > FI]
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Examples

sum < variable

>

Name = [0
sum <@

Runsi > Runs2

Hits2 + Hits1 > FI]
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Examples

DL el value
Sum <

Runsl > Runs2

Hits2 + Hits1 > FI]
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Examples

RelOP

value
“sum £l 10}

> Total

Name = [0
sum <@

Runsl > Runs2

Hits2 + Hits1 > FI]
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Examples

Name
sum <

Runsi > Runs2

Hits2 + Hits1 > FI]
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Examples

variable

Runsi > Runs2

Hits2 + Hits1
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Examples

sum < [

> Total
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Examples

sum < [

> Total

Runsi > Runs2

Hits2 + Hits1 > FI]
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~ Back to our Car Shop

emember ProfitRate is usually 25% as
long as CarValue is less than $35000,
herwise it is 50%

ave to have the code decide
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Examples

sum < [

[ > Total

sum < [

Runsl > Runs2

equation

Jt Scratch Lesson 3A « Summer 2012 « slide 62

~ Back to our Car Shop

emember ProfitRate is usually 25% as
long as CarValue is less than $35000,
herwise it is 50%
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‘Back to our Car Shop

Remember ProfitRate is usually 25% as
long as CarValue is less than $35000,
otherwise it is 50%

¢ have to have the code decide

hat two statements in Scratch can you use
lake a decision?
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- Back to our Car Shop

= Remember ProfitRate is usually 25% as
long as CarValue is less than $35000,
otherwise it is 50%
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- Back to our Car Shop

= Remember ProfitRate is usually 25% as
long as CarValue is less than $35000,
otherwise it is 50%
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- Back to our Car Shop
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- Back to our Car Shop

= Remember ProfitRate is usually 25% as
long as CarValue is less than $35000,
otherwise it is 50%

‘Which should we use?
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- Back to our Car Shop

rofitRate is usually 25% as long as
s less than $35000, otherwise it is 50%
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- Back to our Car Shop

CarValue < EE[i1]

er ProfitRate is usually 25% as long as
1€ 1S less than $35000, otherwise it is 50%
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Back to our Car Shop

than $35000, otherwise it is 50%
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“ar Shop: Complete Code: Input

when __ clicked
EE | How much do you think customer's car Is worth? ELTRVETS

set CarValué |to answer

£E 3 What was the total cost to fix the car? ELGRVENS

set RepalrCost [to answer
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ar Shop: Complete Code:
Calculate Profit & Bill

mber: Equations using variables?

Profit? ProfitRate * RepairCost
ill? RepairCost + Profit
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Back to our Car Shop

AT T T I 35000

set ProfitRate |to

set ProfitRate |to

r ProfitR
han $35000, otherwise it is 50%
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Car Shop: Complete Code:
Decide Which Profit Rate

if carvalue < EEIN
set ProfitRate |to

set ProfitRate to E
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“ar Shop: Complete Code:
Calculate Profit & Bill

set Profit |to ~ RepairCost * ProfitRate

set Bll |[to RepairCost + Profit
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Car Shop: Complete Code:
. Display Bill

say join Bill ' for @ secs
[stop script
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Car Shop: Complete Code:

when
P4 How much o you think customer's car is wortn? ERRURY

set [Carvalie |to answer

EY4 What was the total cost to fix the car? ERERUETY

set Re;

set Bil |to RepairCost + Profit

B Customer ovies us s IUITNR S & P
(stop script

mo C ‘un,{g.j-‘- air 1
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Car Shop: Variation

ets have them tell us the cost of parts and labor as
0 separate values. First ask for cost of parts.
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Car Shop: Complete Code:

P4 How much o you think customer's car is wortn? ERRUES

set [Carvalue |to answer

EY4] What was the total cost to fix the car? ERERUETY

set [RepaliCost | to answer

set ProfitRate | te
else
set ProfitRate |to I
set Profit |[to RepairCost * ProfitRate
set Bll |to RepairCost + Profit
Bill ' for @ secs
[st6p seript.
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Car Shop: Variation

ots have them tell us the cost of parts and labor as
0 separate values.
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~Car Shop: Variation

[ets have them tell us the cost of parts and labor as
two separate values. First ask for cost of parts.

EY 8 How much did parts cost? LT RUET -

set CostOfParts |to answer

Jt Scratch Lesson 3A « Summer 2012 « slide 84
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Car Shop: Variation

s have them tell us the cost of parts and labor as
0 separate values. Then ask for cost of labor.
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Car Shop: Variation

s have them tell us the cost of parts and labor as
0 separate values. RepairCost is sum of these.
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ar Shop: Variation - Complete

clicked

P¥A How much do you think customer’s car Is worth? PR R

set Carvalue |to answer

Pl How much dld parts cost? PRt RO

set [COStOMParts | to answer

B Vinat was the cost of the labor? FUY RUSS

st [2borCost [t answer
set RepairCost |to  CostOfParts + LaborCost
set Profit |to RepairCost * ProfitRate

set Bll_|to  RepairCost + Profit

say join or @ secs

[stop script
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- Car Shop: Variation

[ets have them tell us the cost of parts and labor as
two separate values. Then ask for cost of labor.

EY- "8 How much did parts cost? ELT: RUET S
set CostOffarts |to answer
EY 138l What was the cost of the labor? ELT RUET 4

set LaborCost |to answer
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- Car Shop: Variation

[ets have them tell us the cost of parts and labor as
two separate values. RepairCost is sum of these.

£ How much did parts cost? e RUVET 4

set CostOfParts |to answer

£ 13l What was the cost of the labor? ELT RUETS

set LaborCost |to answer

set RepalrCost |to ~ CostOfParts + LaborCost
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ar Shop: Variation - Complete

when _clicked

P¥A How much do you think customer’s car Is worth? PR R

set Carvalue |to answer

0 CarRepair 2

Pl How much dld parts cost? PRt RO

set [COStOMParts | to answer

B Vinat was the cost of the labor? FUY RUSS

B 30Ot 8B amewer
set Repaircost | to  CostofParts + LaborCost
set Profit |to  RepairCost *
set Bl |to  RepairCost +
P Costomer oves us 5]

[stop script
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Car Shop: Variation 2

How about if we figure out labor costs based on
ow much we pay our mechanics each hour, how
any hours they worked on the car, and how

y workers were involved.
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Car Shop: Variation 2

How about if we figure out labor costs based on
how much we pay our mechanics each hour, how
many hours they worked on the car, and how
many workers were involved.

xample: We pay mechanics $50 an hour each
12 of them worked on the car for 3 hours each.

WIhatis our labor cost?

.
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Car Shop: Variation 2

How about if we figure out labor costs based on

how much we pay our mechanics each hour, how

many hours they worked on the car, and how

many workers were involved.

xample: We pay mechanics $50 an hour each
12 of them worked on the car for 3 hours each.

is our labor cost? $300

Some variables
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Car Shop: Variation 2

How about if we figure out labor costs based on
how much we pay our mechanics each hour, how
many hours they worked on the car, and how

PROf them worked on the car for 3 hours each.
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Car Shop: Variation 2

How about if we figure out labor costs based on
how much we pay our mechanics each hour, how
many hours they worked on the car, and how
many workers were involved.
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Car Shop: Variation 2

How about if we figure out labor costs based on
how much we pay our mechanics each hour, how
many hours they worked on the car, and how
many workers were involved. .

mple: We pay mechanics $50 an hour each
em worked on the car for 3 hours each.

airPeople RepairHours
is our labor cost? $300
Some variables
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Car Shop: Variation 2

workers were involved.
ourlyLaborRate

ple: We pay mechanics $50 an hour each
hem worked on the car for 3 hours each.

b ; RepairHours
What is our labor cost? $300
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Car Shop: Variation 2

f course we have to get the three values as
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ar Shop: Variation 2 Complete
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Car Shop: Variation 2

workers were involved.
ourlyLaborRate

le: We pay mechanics $50 an hour each
hem worked on the car for 3 hours each.

= p RepairHours
Vhat is our labor cost? $300

set LaborCost |to '~ RepairHours * NumberOfRepairPeople * HourlyLaborRate
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Car Shop: Variation 2

= Of course we have to get the three values as
nput...

Y3 How much does shop currently charge for each hour of labor? ELT RUETS

set HourlylaborRate |to answer

ET 3 How many hours did It take to fix the car? ELTRUETS

set RepalrHours to answer

ET ) How many workers did It take? EUT RUETIS

set NumberOfRepalrPeople |to answer
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‘ar Shop: Variation 2 Complete

I. Ask initial questions, decide ProfitRate

£ How much does shop currently charge for each hour of labor? [ELT RUETS
set HourlyLaborRate [to answer
EY 1l How much do you think customer's car Is worth? [EUY. RUETS

set CarValue |to answer

t ProfitRate |to

set Profiate | to [
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Car Shop: Variation 2 Complete

II. Ask rest of the questions
ask and wait

set CostOfParts |to answer

EE 3 How many hours did It take to fix the car? EUTRUETIS

set RepalrHours to answer

£ How many workers did It take? IERTRUERS

set NumberOfRepalrPeople |to answer
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Car Shop: Variation 2 Complete

T
e
B

et Corvalve [t answer

FrontRate | to B3
rrate | to
k and wait

PR e —

P 0w many nours oid I take o i the cor? FRMETY

P T —

askc and wait
Sat] MumberOREpaPEGDIE €8] snewer

set LzDorCost [to RepairHours * NumberOfRepairPeople * HourlyLaborRate
set RepalCost |to CostOffarts + LaborCost

set Proft_|to  RepairCost * ProfitRate

set BI_|to Repaircost + Profit

say Bill for @ secs

(stop script. jmer 2012 « slide 105

Car Shop: With Multimedia

Demo: CarRepair
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Car Shop: Variation 2 Complete

I1I. Calculate all the aspects of bill and display it
set NumberOfRepalrPeople |to answer
set LaborCost |to HourlyLaborRate
set RepalrCost |to CostOfParts + LaborCost.

set Profit | to  RepairCost * ProfitRate.

set Bll |to RepairCost + Profit

say Bill for @ secs
(stop script
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Car Shop: Variation 2 Complete

sy
Coe=m

B

SEeES

e Carvaiue < BT
¢ Profimate |t

onate | to 1

ack DETIGIEEITRENE and wait
B Costoparts 48] amower
ack and wait

P T —

askc and wait
Sat] MumberOREpaPEGDIE €8] snewer

set LaoorCost [to  RepairHours * NumberOfRepairpeople *  HourlyLaborRate
set RepalCost |to CostOffarts + LaborCost

set Proft_|to  RepairCost * ProfitRate

set B [to Repaircost + Profit

22y ' join (EIEETIATE 6l for @ secs

(stop script jmer 2012 « slide 106

Car Shop: With Multimedia
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Car Shop: With Multimedia

car

’s new?
Vlultiple Costumes
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NEW One:
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nostart

20

hotidie

20

shifting
280 ¢©
All Is Not Lost

280 ¢©
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Car Shop: With Multimedia

’s new?
Viultiple Costumes

sach with own name
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Wha g‘heW?
Multiple Costumes

each with own name
Statement to switch

Motion Control
Looks Sensing
Sound Operators

Pen Variables

switch to costume Cheap |
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N Lt paint | 1mport J| camera |

1 driveway

[edit J copy JROI
” EatingDonuts
[edit J copy JRCI
ClerkCalculating

[ecie J copy JOS
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Car Shop: With Multimedia
o
; (coev JCI

TVandVideo
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Car Shop: With Multimedia

switch to background driveway
I:ﬁp l:rlpt\
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Car Shop: With Multimedia

glide secs to x: y: m
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Car Shop: With Multimedia

Jt Scratch Lesson 3A « Summer 2012 « slide 116

Car Shop: With Multimedia

switch to background driveway
I:ﬁp l:rlpt\
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Car Shop: With Multimedia

glide secs to x: y: m
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Car Shop: With Multimedia

What’s new?
More Motion & Control

glide secs to x: Ll -158
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Car Shop: With Multimedia

What’s new?
Having an item trigger an action to occur
) another sprite or to the stage

CheapService
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Car Shop: With Multimedia

What’s new?
Having an item trigger an action to occur
) another sprite or to the stage

CheapService
GoodService
PayUs

new...
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Car Shop: With Multimedia

at’s new?

aving an item trigger an action to occur
nother sprite or to the stage
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Car Shop: With Multimedia

What’s new?
Having an item trigger an action to occur
) another sprite or to the stage

CheapService

message” of your choice out to
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Car Shop: With Multimedia

What’s new?
Having an item trigger an action to occur
) another sprite or to the stage

CheapService
GoodService
PayUs

new...

Winake New message at any time
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Car Shop: With Multimedia

What’s new?
Having an item trigger an action to occur to
nother sprite or to the stage

iggered by such messages
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Car Shop: With Multimedia

uch of the multimedia action in the car shop is
riggered by particular messages broadcast by the
sprite. Here are some scripts the stage has:
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Car Shop: With Multimedia

uch of the multimedia action in the car shop is
riggered by particular messages broadcast by the
sprite. Here are some scripts the stage has:

Luxury service show

-ound Comfortablechar
ch to background Food |

switch to background TVandvideo |

switch to background CarWash |

0 background Massage

ound ClerkCalculating
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Car Shop: With Multimedia

What’s new?
Having an item trigger an action to occur to
nother sprite or to the stage

GoodService
PayUs
new...

iggered by such messages
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Car Shop: With Multimedia

h to background EatingDonuts

switch to background ClerkCalculating
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Car Shop: With Multimedia

Viuch of the multimedia action in the car shop is
triggered by particular messages broadcast by the
ar sprite. Here are some scripts the stage has:

Credit Card time

switch to background CreditCard
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Shop: With Multimedia

ete Car Script

\
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Let viewers enjoy starting
s background a while
set y to @
switch to costume NotKnown
say for @ secs
say for @ secs
think for @ secs
E-Don's tell anyone but we make 25% profit on cheap cars, while we make 50% on expensive cars. k243
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Show sprite as starting
set x to question mark

sety to @
switch to costume NOtKnown

EE This software Is used by the shop's employees. K278 4 [ET32
P Our Motto, we charge less If the customer can't afford it. B0l 4 T4
LI In which case, we also give the quicky service. K21 4 E2

PR Don't tell anyone but we make 25% profit on cheap cars, while we make 50% on expensive cars. k21 4
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~ —
[ when _ clicked

[wait @ secs

set x to

sety to @

switch to costume Notknown

say for @ secs

say for @ secs

think for @ secs

say for
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Move sprite to
set x to starting position
set y to @
switch to costume NotKnown
say -
say for @ secs
think for @ secs
say For
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Tell viewer the essence
s of the shop and calculation

setyto @

switch to costume Notknown

EEAIThis software Is used by the shop's employees. KETH 4 JE

say for @) secs

think for @ secs

say for 0‘
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Car Shop: With Multimedia

nplete Car Script (Part IT)

/

£ 3 How much does shop currently charge for each hour of labor? EUTRUETS

Ask for key values

set HourlylaborRate |[to answer

EE 1) How much do you think customer's car Is worth? IERTRVETS

set CarValue |[to answer

EEV A Here s the script to follow with the customer. B3 secs
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Car Shop: With Multimedia
plete Car Script (Part ITT)

For inexpensive car,
change costume to
jalopy and play trouble
starting sound, drive
car to Joe, and show

= T L T e 35000]
switch to costume Cheap
play sound nostart |
glide @) secs to x y: §5
set ProfitRate | to [FH donut sequence. Time
[braadeast Chespservice | it well, use waits if
say [P useful.
[vait @secs

else
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Car Shop: With Multimedia

Otherwise it is an
expensive car,

So change costume to
sports car and play
zoom sound, drive car
into shop, and show

nplete Car Script (Part I1T)
cze

switch to costume Expensive

play sound shifting

glide € secs to - 155
set ProfitRate | & luxury sequence. Time

[broadcast| Goodservice | it well, use waits if
play sound Al Is Not Lost useful.
say for €I secs
[wait @ secs
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Car Shop: With Multimedia

nplete Car Script (Part IT)

£ 3 How much does shop e for each hour of labor? ELT RUVETHS

set HourlylaborRate |[to answer
EE 1) How much do you think customer's car Is worth? IEUTRVETS

set CarValue |[to answer

EEV A Here s the script to follow with the customer. B3 secs

Explain why they are being

shown the multimedia show
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Car Shop: With Multimedia

plete Car Script

= T L T 3 35000]
switch to costume Cheap
play sound nostart
glide @) secs to
set ProfitRate |to .
_E upcoming
rdcast CheapService )
calculation uses
say for @ sec 25%
e 0

Most importantly,
set ProfitRate so
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Car Shop: With Multimedia

nplete Car Script (Part IV)
-
else

switch to costume Expensive |

play sound shifting

glide () sacs to)x v: 81D

set ProfitRate |to

(Brosazast] Coodservice ]

play sound All Is Not Lost |

say for €I secs
[wait @ecs

Of course, prepare for
calcuations by setting
ProfitRate for 50%
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Car Shop: With Multimedia

Ask for other necessary values,
@omplete Car Script (V)  exactly as we did in previous
. versions of code

ET1 18 How much did parts cost? LT RUET 4

set CostOfParts |to answer

ET I3l How many hours did It take to fix the car? ELT RUETS

set RepalrHours |to answer

£ How many workers did It take? LT RUETS

set NumberOfRepalrPeople |to answer
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Car Shop: With Multimedia

@omplete Car Script (Part VII)

Finally signal stage to switch to
credit card background and
show how much customer owes

[;Eadcast _PayUs
say join Bill  for @) secs

I:t_op script
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mplete Script

¢ are done,
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Car Shop: With Multimedia

( plte Car Script (Part VI)

And do calculations like we
have been doing:

set LaborCost |to VR.pllmoursTNumbc.pner.opln’ * HourlyLaborRate
set RepalrCost |to CostOfParts + LaborCost
set Profit |to RepairCost * ProfitRate

set Bll [to RepairCost + Profit

=,
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Car Shop: With Multimedia

@omplete Car Script (Part VII)

Finally signal stage to switch to
credit card background and
show how much customer owes

[;Eadcast [PayUs |
say join Bill  for ) secs

switch to background CreditCard

[;t_op script

I:t_op script

Remember this
stage script?
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mplete Script

¢ are done,
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mplete Script

Il Ask
type of car
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mplete Script

IV. Or handle
nice car
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mplete Script

. Calculate
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mplete Script

Ill. Handle
cheap car

Jt Scratch Lesson 3A « Summer 2012 « slide 152

mplete Script

other values
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mplete Script

» VII. Display

bill & end

26



mplete Script
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Availability of Slides
Go to

nbcs.rutgers.edu/~jt

to see the powerpoint
ides and/or podcasts
or this lecture

Jt Scratch Lesson 3A « Summer 2012 « slide 158

27



